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24P 1, 0, 5 dUT 7 &1 FAET &Y,
31?»1 T T TIHHEAT

360 2,3 e Lk g

G,Qﬁ,&,? digits 1, 0, 5 and 7 is)-

(JNV 2002)
(1) 1075.

(The largest four digit number using the

(2) 1057
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TabLe@ @ 6.25 T 0.25 T HTT &aF 9T FAT

h1e qred gI9m?
£, 95X \ap{What will you get by dividing(6.25)by
— . < 0.257?)
05X \””2 = G;;S’ (NVS 2009)
Z< ~(HS (a) 0.25
= (b) 2.5
”'73?% (c) 250

It <
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0.725 B TRTR fHA PIH-ATE ?

C{ S ol F’ uky ( What is the variance equal to 0.7257)

= 17‘?6 239y O w o W < 725
) ~ : N I X == (A)m
oro\ 3*‘0\ I3 WOM\S 'OOO —“0 (‘10 .
SUGUESERF I [ (B) 2

Sw@'%im—w&? z9
I 5| ‘QJ’\;’E (C)<,
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Q.4 %lionm [400+ {100-(50-3x-10)}]

vBODMAS
‘ \6&\\\ HIARTOT 2-
L O\ 10x10+ [400+ {100~(50-3 x 10)}]

. w

v = _ Simplifying gets)
|

3 0X10 + [ Yo = {(00_ 2, 1 UNV 2023)
[ - ) s A) 265
VARLULN T * R0 ] ((c; 310
<P ) 65
(D) 105
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SAE] AdIGT fagATT 2026 FET -6 New HEBAT Batch Start

%én&? £ 5000 - (Q.6) &A1 ¥ T Wé_is.pgoﬁ ex

3o X 3,400 TheT
v Rt 3R TR Ft T A 3 @
| 3URI_ATH IT_Fllo

r’%‘ & = 56630 (Tina bou%htag%oter for X 55,000. He spent
9. X 3,400 on repairing the scooter/andgo,jd the
S scooter to his friend for X 56,030. its profit or
Sl \q Ioss) (18 JAN 2025)
Doss = G P-S.P (A) 32,370 ST A8

(C) X 1,030 T aTaT
(D) X 1,030 ST oY
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LR PIIE4E]D UETY el T €7

(The area of a square &aving‘perimeter 44)

A3 T Q)<Y = WY cm is?)

Pevimneder of Squave =4y (A) 180 3T FHT
(B) 120 F3r VA

- X (C) 121 T3 [+

-1 (D) 125 a1 WA
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.,!H! STATEY ddicd fagATT 2026 F&TT -6 New BT Batch Start
Q.8 ) frafaf@a REew # F JUH IR

0

0

6 X5=36 qeraR-0 0 0 0

3 R¥S=YpeaR-0 0 0 0 0 0
gfe Mg _ofegi sy g9ifdr & 99T 39+ 99 AT

H(150 ATedr 4, aY AR & dIc_ g
2 ofear Y & -
(A) 110 (B)90 (C) 70 (D) 40
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60°?

60° ST I 10T FIT g2
(A) 30°

(B) 120°

(C) 300°

(D) 90°
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Q.10/9AF) [AwH &A1 FT IUAES 87

Every odd number is a factor of?

[ao a2 = |,3,5,7,9,11,14,17,19,3) 1<(A) O
d (C) 3
307 3 (1,3,57%) (B) 1
(D)5
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cLass
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